

The longest side of a triangle must be less than the sum of the other two sides

The smallest angle is opposite the smallest side
The largest angle is opposite the largest side

Refer Gamma pg 146





If a2 + b2 = c2 then the triangle must be right angle





If a2 + b2 < c2 then angle ∆ must be  >  than 90° (obtuse)





If a2 + b2 > c2 then angle ∆ must be  <  than 90° (acute)
1) Is the triangle with sides 9cm, 7cm, and 6cm acute? right? of obtuse?
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p147 Ex 8.4
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p129 Ex 27.04











Properties of triangles








